&F0 265y i = X 15
i KET A4 - N R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| SEAHT £ P DU ot 3. T 58— |~ —
LIS D Ktk
1 Raainwy 40 | L1|d 7.3 e 13p 13 - —
2 _EILISN o HE, 40 | L1 s 1 o1 17 | —
R FEAT P i X 4 —pl 2. 2 4.3 — — — —
LFREIA D K 5
1 ESERV 40 | Lo 4.8ff 199 8.8h 8.8 |  —
2 _EFLEISF MR 40 | L1(P 3.5 7.0 7.3 .3~ —
JETET 2 F i Xtk —l 4 e T | | | —
ERUADKE
1 REBN 40 | LifFn4E o211 - - - -
2 _EFLSh oM 40 | L1|F 52 1290 ufF 1 | —
JEET = F i —l 3.7l 8.4 | | | -
EFRRLIA D Kk 40 | L1|F47F 14 1 11 - -
N F & T ES 10 | 1.1 - o2 24 | -
L pLET AL 40 | 1.1 o R = % - (= - I I
TR R X g
1 R —W 2. 680067 —| - - -
2 LRSS o XK
(1) [FEhE - BaEiRy 40 | L1|d 7.5 20 18P 18 0 —| -
(2)  EEBAS MR 40 | LU|R 42 w13 13 - —
it FH T £ P L U —t 2. 4 57— —| | -
ERLEAA D X I
1 RaEnwy 40 | L1 4 g wgh g - —
2 LELIS o i, 40 | L1|F sl e 1 .8 .8~  —
HisAT fi P b X3 —l 2.7l 5.3 | - | —
LFREIA D K i
1 [EE - FSER 40 | L1 o7 16 20 20 0 | —




&F0 265y i = X °H
[iEEIE S AN i) HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
WY TSHET 2 kRS OHIK 40 | L1 4.3 9.8 13 13 - —
| T iz R AESE — | BRER | IhMY HYE LR LY - -
AT {L A X
1 A —| 5.8 14 — — — —
2 R ORIk 40 | L1(P 7.9 18% 18f 18§ @ — —
KEHT LIk — | WEgR | k¥ bkvE phdE phre - -
AT LA DI
1 RAHEER —#i s o660 | | |  —
2 LRSI
(1) FEHEW 40 | LO|H 7.5F 18F 208 200 | —
(2) RS HuIER 40 | L1(F 5.9 149 13 13— —
aNila) 5 A M IR —|W 4. O 5. 6 - - - -
EFRLIA O K
1 RIERW 40 | L1fd 4 13 owgh o190 - -
2 LA oHER 40 L1(F 4. 4% 6.6 8. 114 8.1 - -
7y A% LET = F i —ffd 4. O 8. 0 - - — —
RFRRLIA D K S5
1 [EER 40 | L1|d ufE 26 19k 19— —
2 BRJERW 40 | L1|f 7.5F 16F 15% 15 - —
3 _LERCEA DR 40 | L1(|F 5.5 12¢0 14h 14 - -
i AT L R — | BGER | PLUE LLWE LR LY — -
A KRR b
1 B —l 4. 088 5.0 —| - —| -
2 LELRAA ORI
(1) BsEiRy 40 | LA|P gk o1 o o1 | —
(2)  EFELSOHI 40 | LLfd 84 3 3pb o113 | —
EREFHT Fr P 0 —ft 5l 7.4 | | | —
ERRLISh O X8




ST 265y i = X 3E
i KET A4 - N R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
By JEEEFET 1 MG ENS R R 40 | 1L1ffo1g 28 21 21 - —
2 ERLIS 0K 40 | L 1P 8.6 13 18F 18 — —
LAET E=ei — | BEMR | Pb¥Y bovE bhiH LY - -
{i & FET fet P L DI —t 2. gt 64— | - —
EERLS O K
1 FSESL 40 | L1 7.6l 20 8.7 8.7 | —
2 REOLISh o HiE 40 | L1 3. 7h 7.4 8.2 8. | —
Al & P HT 2 R i Xk —{ff 2. 9Pl 6.3 — — — —
RS DK
1 EER 40 | L1|4 7ol 20 8.7 8.7 | —
2 hEEA o i 40 | L1|H 3.3 7.3 8.2 82 — —
| kAR 5 A M IR e 2.0 5.1 | | | —
EFRLIA O K
1 RIERW 40 | L1339 ufFoqhon - -
2 EFELSt MR 40 | 11| 3.5 8. 1 8.3 8.3 — —
It T = F i D —l 4.7 7.9 | —| - -
RFRRLIA D K S5
1 RaEiRw 40 | LL(d 13 20 13 13— —
2 EERLA O 40 | L1(F 6.4 1 10 100~ —
BEAHT 2 P [ —l 3.9 7.9 | - - -
RS oD K Se
1 FEEHFEINE) /B R 40 | L1|f 1ff 26 2o 22— —
2 ERCEA s 40 | L 1|4 4.6 14 1584 15— -
ZRHAT P P L X fgk —t 2.8l 4.0 —| | - —
RS X8 40 | L1 oeoff 1 o1 12 | —
AT fi P b X3 —hl 3.8 7.8 | —| - —
LFREIA D K i
1 [EE - FSER 40 | L1|F o o19d 20 20 | —




ST 265y i = X 1H
[iEEIE S AN i) HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
&| T 2 RERLSOHI 40 | L1 4o 12 12 - —
<| AARAHT P X3 —#t o3 opE 7.2 —| - - -
LERLEAS D K
1 [EE - FaEnn 40 | L1 vl 19 14 14 | —
2 FEREAAh o Mgk 40 | L1|H 3.3 84k g o1y — —
ITEHT it FH 1L X3 —ht .80t 5.2 | —|  —| —
RS DK 40 | LU oroob 19 1ofk 100 | —
EJimy [EEcaRIAESET — | BEAR | bhBE LhiE LhHE phEE - -
T LA X ek
1 g i 5o 15 | | | —
2 ERLPA DX
(1) EEHv 40 | L1|F 12 80 208 200 | —
(2 kLSO 40 | L1|F 9.4 24 17 17 — -
Z| T B2 P X —l 3. 86 7.8 —| - - -
e NG 40 | L1|F 5.6 13 18 15 —| -
&| SHT = F i D —l 3.9 4.7 | - - -
RFRRLIA D K S5
1 RaEiRw 40 | LL(F 8o 12 13 13— —
2 EERLA O 40 | L1fP 40 5.2F 1woh 10 0 —| -
fit] = i X 35 —l 3. 4 9.5 - - - -
RS oD K Se
1 TERLRB R W 40 | L1|h 8.6 23F 1 16 —| —
2 ERCEA s 40 | L1|¥ 4.6 124 o.8b 9.8 — -
4= EsiH 40 | L1|% 4.3%F 8.5% 1f 11 — —
L| ST [k A — | BRAR | LM bbWE e peTH | —
T (LR X
1 R —¢t 3.5 9.8 —  —| - —
2 ERELS X




&F0 265y i = X 5E
[iEEIE S AN i) HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
U| imT (1) FEHFEIMN) N RR 40% 1.1%4J 1{343 zém 2{343 2f2 [
(2)  EFREA U 40 | L1 77 200 1gd 18 — —
TRHERET 2 P Xt —E 3. 7TWE 5.7 - - - -
EELIA 0 KR 40 | LoO|f 7 13 ufF o1 - —
FoRA{ERT FEL R X Ja —l 2.9 5.2 | —| | —
ERLEAS DK
1 ESERV 40 | L1 osooff 13 9.7 9. | —
2 kFCLA o Mtk 40 | L1|# 4.5+ 8.5+ 9.5+ 9.5 — —
HEFOAT i A KR —f#t 3. 5[4 6.6 - - - -
ERUADKE
1 REBN 40 | L1|ds5.4F b8 ben] | —
2 _EFLSh oM 40 | L1|F 3.8 7.0 8.3F 8.3 | —
HTERET = F i —pil 3. 1l 7. 4 - - - -
RERLIA D K 5
1 RiEiRw 40 | L1(F 7.0 204 8.84 8.8 —| —
2 bRELSt o 40 | L1|F 3.6 8.4F 83Ph 83 —| -
FRBHT Eee: — | B | SbYE bR fhvE bR - -
91 B AT ek R X5 —fl 3. 16 6.8 — - - —
LRCLASR D I
1 JRERW 40 | L1(P 5.8F 13 13 13 — =
2 RELS O HUR 40 | L1|H 3.6k 8.5 10k 190 —| -
{EFKHT £ P L U —fhti 4.4t 9.1~ —|  —| -
ERLEAA D X I
1 RaEnwy 40 | L1|d 87 18 20 20 00— —
2 ELS o 40 | L1 49 199 18h 18 |  —
S fi P b X3 —hl 3.7 6.0 |  —| -  —
ERLEAS DK
1 HSERL 40 | L1|F 5.8 13 13 13 | —




&F0 265y i = X 6
[iEEIE S AN i) HEEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
{E T 2 kRS OHIK 40 | L1 4.2f 8.5 104 100 - —
| EARET l=3jibeilEN —#t 3.8 6.0 —| - - —
LERLIA o Kt
1 RERWy 40 | L[ 8.4 13F 9.8 9.8 | —
2 FEREAAh o Mgk 40 | L1|¥ 4.5 6.9+ 9.2 9.2 — —
7| KBAET e 1 X3 —hl s o6 1] |~ —|  —
RS DK 40 | L1 sefb o 9 b 9.1 - —
e HHET FE FR b X A — 4R o1 | | | —
RS DK
1 SEEHOGE G NEF R O 40 | L1 g 27 21H 21 — —
2 bR DRIER 40 | L1 1 27 15 15 — —
3 LECEUt oo HbIR 40 | L1|F 5.6 14 13F 13 | —
= LT = F i —I# 3.0 6.7 - - - -
RERLIA D K 5
1 RiEiRw 40 | L1(F67F 17F 4F 14 - —
2 bRELSt o 40 | L1[P40F 82F 9.8P o8 —| -
[ g 40 | L0 e s e T
HFFAT [ERER 7
1 /)N T e R R X TR R 2 fE@g) | =50 =R - - - -
2 LELA DK — | B | fhHE HME HME fhHE - -
AT LR Kk
1 ERHMXIR —fhti 3.1 680 —|  —|  —|  —
2 EREEAA DX 40 | L1(|F 8.2 1% 15 15  — -
| mEer TN 40 | 1.1 e s e e
RAFET [k A — | BRAR | PbME kMR peME MR | —
M RS K 40 | L1(P 5.4 9. 13 13— —
72| RRERT Fr P 0 —L 3. 30 5.1 - - — —
ERRLISh O X8




&F0 265y i = X 7H
LIRS ditl HEEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
73| RRHET 1 FSERW 40 | Liff e 3 o oa§h 15— —
2 kRIS Hk 40 | L1|H 4.4 580 13+ 13 — —
1 AT [k aRlre: — | BEAR | PbME bW kv kW | —
AT LR X
1 A o S U T I I
2 ERRESA O XK
(1) FER 40 | L1[P 8T 20 o 2o | —
(20 kRS o HR 40 | L1 e b 144 2000 20 —
AR AT A XA —ft 3.58 5.6f  —| | | —
ERUADKE
1 REBN 40 | L1{F .o 12bogbos | —
2 _EFLSh oM 0 | L1|F 43F 6.5% 7.9F 7.2 —| —
T [EEEIE (A% — | B | PR bEMH MY bW | —
[iReaR ok dme
1 RO —l 3.560 6.8 —| —| —| —
2 BRSO XK 40 L1$8AE 16 15 15— —
& T 5 F i Xk —l 3.0 6.3 - - - -
LFEELS oD R t5
1 FGERW 40 | L1 7.0 16 13 13— —
2 _ERCEA DR 40 | L1|d 3.3 7.9+ 9.3b 03 - -
7| FEARAT N — | BRER | PLUE LLWE LYE LLYE - -
V4 s T £ P L U —fti 3.8 6.7 —|  —| - -
ERLEAA D X I
1 RaEnwy 40 | Li|d .o 19 9.2P 92 | —
2 LELIS o i, 40 | L1 49 8.9 7.7 .7 | —
i3 TEL AT [iskcaRAre: — | BEAR | PLME k¥ Lbve b | —
AT AR K ek
1 REH Hh —%50@ 12— - - -




ST 265y i = X 8
i KET A4 - N R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
VY BELHT 2 LRSS OKIK 40 | L1(F 6.6 14 12 12— —
O HARAT £ — | BRER | IhMY HYE LR LY - -
Sl fr P M X —l 1800 4.8 | —|  —| —
RIS K
1 mERBKRRERO 40 | L1(Po4a2f 1yh 12 12— —
2 EELISh o HiE 40 | L1|d 280 57 1ofp 100 | —
L5 A HHET [k (Are: 40 | 1.1 e e e T
AT AR X g
1 R —l 2.9 6.2 | —| —| —
2 EREEESR R
(1) REHW 40 | L1 7.4 199 9.5 9.5 | —
(2) BRSSO 40 | 1.1|F 3.0/ 6.5 9.0fF 9.0 | —
[RERy = F i —l 2.4l 5.4 | —| - -
RERLIA D K 5
1 RiEiRw 40 | L.1(F 6.5 15% 13F 13— —
2 bRELSt o 40 | L1 3.0 5.8 6.6 6.6 —| —
EmET R Hb X —id 2. 1 3.1 - - — —
LRREADRIR 40 | 11| 3.0fF 4.4 6.3 6.3 | -
TIEHT i PR M X —t 2.l 5.7 - —| | -
LRCLASR D XI5 40 | L1|4 3.9 1 13 13 — -
FRAHT Fot Y b R s —E 2.9 .00 —| - — =
EFRLA o I
1 B 40 | L1(P 6.6 1% 13 13 — —
2 LEELS o H 40 | 1L1|d 3.7 g4t 9. gfb g | —
1T FR P M X —t 3.5l 7.5 | | | —
ERELA o K IE
1 EE - EERSENE R |40 | L1 7.gd 18 18t 1§ | —
2 kRS OBRER 40 | 1L1|h 7.8 g 16 16 | —




&F0 265y i = X I
i KET A4 - N R E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
L5 BT 3 RERLSSOHIR 40 | L1fd o4 o3 o4ah 14 | —
i3 AET £ — | BRER | IhMY HYE LR LY - -
AET1TH E=ei — | BEMR | Pb¥Y bovE bhiH LY - -
| SLILET Eeis — | B | PhME phWE e peTH O |
Ji I <FET FE R b X 3 —ffl 4. 6L\'*E 8.4 | - - -
LFREIA D K 5
1 ESERV 40 | L1|foesfh 13 b o1 - —
2 kFCLA o Mtk 40 | L1 e.4b 1yFo24b 92 — —
A =FAlT i A KR —f#t 3. 24 6.7 - - - -
ERUADKE
1 REBN 40 | L1 o7 22 o1 | —
2 LELISk o MR 40 | L1|F 5.4 129 9.6F 9.6 | —
R 1L ET [EE(AEsE s 10 | 1.1 o R I % - (= - I
T AR X g
1 R —fl 2.4t 5.3 - —-| - -
2 LRELIAADRIR
(1) "B ERG 40 | L1 7o o9k o1 o1y | —
(2)  LEELisoHIR 40 | 1.1|# 3.5/ 8.2 100F 100 | —
| B ASET i P —t 4. 16l 7.8 - —| - -
BRI CINAIES 4
1 FaEinwy 40 | L1k 7o 3 ogh oy~ —
2 RERLS O 40 | 1.1|P 4.5 8.5F 8.0 8.0 —| —




